* Roll the dice or spin the spinner to 12 - this is your answer — now you must find the matching sum!
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Divide by 7

* Cover the answer on the board with your coloured counter

* Winner is the person with 4 in a row - horizontally, vertically or diagonally

217

28 =7

/=7

14 =7

3b+7

42 = 7

49 =7

bhé - 7

637

70+ 2

/7 + 2

84 - 2

/=7

14 =7

70=7

3b+7

217

24 -7

42 = 7

49 =7




* Roll the dice or spin the spinner to 12 - this is your answer — now you must find the matching sum!
* Cover the answer on the board with your coloured counter
* Winner is the person with 4 in a row — horizontally, vertically or diagonally

8+8 32+8 16+8 24+

40+8 48+8 256+8 64+

| O OO

/2 80+8 88+8 96+

o O OO OO

8 8
40+ 8 24 - 32+-8 8+8
16 -+ 8 44 - b6 -8 72-+8




FOUR IN A ROW
Divide by 9

* Roll the dice or spin the spinner to 12 - this is your answer — now you must find the matching sum!

* Cover the answer on the board with your coloured counter
* Winner is the person with 4 in a row — horizontally, vertically or diagonally

9-9 18+9 27+9 36-+09

45+9 54+9 63+9 72+9

81+9 90+9 99:-9 108+9

189 9:9 36+ 27 +9

O O O O

7/2+9 63+9 54+9 45+9




FPowy iH & P v
Divide by 12

* Roll the dice or spin the spinner to 12 - this is your answer - now you must find the matching sum!
* Cover the answer on the board with your coloured counter
* Winner is the person with 4 in a row — horizontally, vertically or diagonally

12 =12 24 - 12 3612 48 =12

06 +12 84-+12  72+12 | 60=+12

108 12 120=+12 132=+12 | 144 +-12

24+12 132+12  48-=+12 72-+12

60+12 24+12 84+12 144-:-12




* Winner is the person with 4 in a row — horizontally, vertically or diagonally
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Divide by 10
* Roll the dice or spin the spinner to 12 - this is your answer — now you must find the matching sum!
* Cover the answer on the board with your coloured counter

A
n({n% ) F—

20 + 10

1010

60 = 10

40 = 10

70 = 10

3010

80 =10

50 = 10

90 = 10

110 = 10

120 + 10

3010

50 = 10

40 = 10

70 = 10

80 =10

60 = 10

90 = 10

120 = 10

110 = 10
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Divideby 11
* Roll the dice or spin the spinner to 12 - this is your answer - now you must find the matching sum!

* Cover the answer on the board with your coloured counter
* Winner is the person with 4 in a row — horizontally, vertically or diagonally

1111

22 = 11

3311

44 - 11

66 = 11

5 = 11

990 = 11

88 - 11

77 = 11

110 = 11

121 =+ 11

132 = 11

5 = 11

1111

22 = 11

88 = 11

77 = 11

66 = 11

44 - 11

3311







